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1. A full wave rectifier circuit uses a = filter (C1 - L-C2 ﬁller) The rlpple factor at the outpul of the
circuit 1is 5%

(1) directly propertional to the load and inductive reactance

(2) inversely proportional to the two capacitive reactances

(3) directly proportional to the product of the two capacitive reactances

(4) independent of the supply voltage frequency

2. The figure given below shows the transfer characteristics of which one of the following

v 4

aul

v,

A
a

Slopes 's’

(1) peak clipper

(3) clamper

3.  Consider the following circuit conf
1) Common emitter 2) Common base

3) Emitter follower 4) Emitter follower using darlington pair

b () 1.2.4: 3
(3)21321’% r 4)1,2,3,4

6@3@-,@.‘

L

o, (2) \fuitage regulator which gives + 09 Vas output voltage
i?‘f; (3) Voltage regulator which gives —09 V as output voltage
(4) Voltage regulator which gives — 15 V as output voltage

5. Assertion (A) : A monostable multivibrator can be used to alter the pulse width of a repetitive
pulse train

Reason (R) : monostable multmbr'tt(,r has a %111(*1& stable state
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(1) both A and R are true and R is the correct explanation of A
(2) both A and R are true but R is NOT the correct explanation of A
(3) A is true but R is false
(4) A is false but R is truc
6. Eor a JFET, let VGSQ =0V V=24V &IDSS = '6mAf The drain current would be

(1) 1.95 mA (2) 1.5 mA
(3) 0.05 mA (4) 3mA .
7. A shunt series feedback amplifier is
(1) voltage amplifier ' (2) current amﬁliﬁer |
(3) transresistance amplifier ’ (4) trans-conductance amplifier IF
8. Assertion (A) : miller sweep circuit producing saw-tooth waveform is a relaxation oqciliatei‘

Reason (R) : the active device alternately supplies power to the load and relaxes when. 1t “sfeul
off T

(1) both (A) and (R) are true and (R) is the correct explanation of (A) W; E

(2) both (A) and (R) are true (R) is NOT the correct explanation of (A}» L

(3) (A) is true but (R) is false e
(4) (A) is false but (R) is true _ -
9. In 555 timer the inverting input of voltage u)mparator one\ s; 01&56& by "hc Voltagc divider to a '

level of : »»

(1) Vee

,.‘

3) EVCL

10.  Which of the fo]lemﬁ 1s used tmcalculdtc the full power bandwidth for a given output amphtude
in Op-amp . '

i
S
i
e i
<” ~’2§N

( 3) cm}j];ﬁ@n wazn (4) CMRR
' pﬂmder% ﬁ;]foumgj statements

i

(1) slew«;:ate (2) differential gain

3 A
h?oréér fo genemte square wave from a sinusoidal input signal one can use

e,
B gg;.A

B, I) schmitt trigger circuit 2) chippers and amplifiers

- 3) monostable multi-vibrators

Which of the above statements is/are correct
(1) 1 alone (2) 1 and 2
(3) 2 and 3 (4) 1,2 and 3




ECET - 2016 (T.S) _ ' : | - 1791

T

12,

13.

14.

Circuit shown in the given figure represents __ if we take the output at pin 3
VC(;
3
’Tr{t %
(1) monostable niulti-vibrator (2) astable multi-vibrator
(3) voltage-controlled oscillator (4) ramp generator

The number of independent loops for a network with 'n' nodes and 'b' branches is
(1) n—-1 (2) b-n '
(3) b—n+l _ (4) independent of the number o

w g

The current i in the circuit of Figure shown below is
40

A
e
10\/@ Q ﬁt)sv:.

2) -0.667 A
(4) 2.667A

(1) -2.667 A
(3) 0.667 A

i, _ 1
=2KQ, = 1H and C = * 200 —— uF. The resonant frequency in Hz is

(4) 2n x 10

t=0
1m 10
: AL A T
80 >LLHTJ T
100V somiE |
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x__the circuit given below, the switch is open for a long time. At time t = 0, the switch is closed -
: '__hat are the mmal and final leues of voltage across the inductor
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() 0V & 0V _ 2)0V&S0YV
(3)80 V& 0V (4)80V &S8OV

17.  Suppose there is a circuit which contains dependent sources and resistances only. Then its
Thevenin's equivalent at any two points in the circuit would be

(1) a voltage source with a series resistance 3
(2) a current source with a parallel resistance
(3) either voltage source or current source only
(4) a resistance only

18.  An RLC parallel circuit at resonance magnifies _ |
(1) voltage . (2) current .
(3) frequency (4) power |

19.  According to maximum power transfer theorem, the maximum power delivered to the Iogd
from the source (in terms of supply voltage V¢ and load resistance R ) is

(1) Vi /R (2) Vi /(2Ry)

(3) 2V2/R, (4 VZ/(4R,) .5 5 %
&:éc%w e G

20.  If an unit step voltage is applied to a perfect integrator cn‘cuit then H%é tput*of the integrator

18

(1) impulse

(3) square

- 10°
21.  The transfer function H(s) = +, v of a RLC circuit is given by H(s) = w—————
: ®) b 9 i (6)_ §” +20s+10°
(3) 100 %m e o (4) 500
22, C ondltlou fﬂ:ﬂ; a%ﬁsgm thIﬂebb transmission line (in terms of its primary parameters) is
%_;f’fii?f’i;*‘@ @)RC=LG

(4)R=C
mo f‘? 1 G -Is5=1
SUUE() 1552w (4)-1<S<0

"24. A 120 ohm load is to be matched to a 75 ohm line. Then the quarter-wave transformer that is
used to match them must have the characteristic impedance of

(1) 75 Q | (2) 100 Q
(3)55Q (4) 95 Q

aseiE
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25.  When a thyristor is reversed biased, number of blocked p-n junctions are
(D1 : ; (2) 2
(3)3 ' . (4) 4
26. In a single phase full converter, for continuous conduction, each pair of SCRs conduct for
OF: ' 2) &
B)r+a (4) m-
27. Compared to a single phase half bridge inverter the out-put power of a single phabe full-bridge
inverter is higher by a factor of
(1) 2 ; (2) 4
38 - (4) 12
-28. A single-phase full bridge VSl has inductance L as the load For a constant source voltage, the
current through the inductor is
(1) square-wave (2) triangular wave
(3) sine wave (4) pulsed wave
29. When a series L.C circuit is connected to a dc supply of V volts through a Ll&ynst
current through a thyristor is
-
® YD (Tu S
30.
(1) 45° R ”(9} 140°
(3) 60° . (4) 130°
31. A step-down d;(?gjser is operatéd m contmuous conduction mode in steady state with constant
duty ratio D Iﬁe\f is the magnitude of the dc output voltage and if V. is the magnitude of the dc
111puL\fD‘ltan ttig&gah@@@f V,/V, is given by
) B % - 2) 1-D
& T o :
2 g, T .
\;;__W.m. gﬁz %‘@mm : {4) _D)

- m;&%%&&&;& ’%@fw 2
S %@w “A three-phase, ac voltage controller feeds a three-phase induction motor for speed control. The

A&w
Ha

speed control will be morepronounced if
(1) load torque TL is constant (2) TL is proportional to speed

(3) TL is proportional to speed-squared (4) TL is inversely proportional to speed-squared

- Radzanrs E
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33.  Number of links in an eight node fully connected mesh network is
(1) 48 (2) 16
(3) 28 (4) 64

34. . Shannon limit for information carrying capacity og a 2.7 kHz tclcphoné channel for an SNR of
1000 is about '

(1) 27 Mbps (2) 27 Kbps

(3) 2.7 Kbps ' (4) 2.7 Mbps

35. Multiple Access protocol CSMA/CD is a
(1) physical link layer protocol '(2) channelization protocol
(3) controlled access protocol (4) random access protocol

36. The layer which is below transport layer in OSI model is
(1) presentation layer . (2) data link layer

(3) network layer (4) physical layer
37. Telephone signals in PSTN are sent through a
(1) message switched network
(3) datagram packet switched network
38. Data rate supported by standard Ethernet is
(1) 100 Mbps @ IO’Kbns =
(3) 100 Kbps @) 10Mbps.

39.  Allocation of same channels to more 1ha,n one ceH it _"_e (.GHS are phymcally separated by large
distances is referred to as o :

(1) frequency reuse a (2) cell splitting
(3) hand off

40.  The frequency range of radl&

~ (4) sectoring

es ‘used by bluetooth technology for exchange of data is
(120 MHZ»{@ 240 MHz a:;x» (2) 2.4 GHz t0 2.485 GHz
3)8 CxI;Iz WLQ” C%Hg ' (4) 300 MHz to 2.285 GHz

41, If the mdujaﬁomlﬁﬂex of an AM signals is increased from 0.5 to 1.0, the tranqmltted power
__'_mcreaSed bym ““

‘%“

(2) 25%
= (4) 50%
42.~ Boosting of higher audio frequencies in FM to improve noise immunity is calied
(1) De-emphasis _ (2) Pre-emphasis '
(3) compression (4) expansion
43. Modulation technique used by Television video signal transmission is

(1) DSB-FC modulation - (2) DSB-SC modulation

(ST

(3) SSB modulation (4) VSB modulation

1.. Raa’zanrb ‘
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44.

45.

46.

47.

48.

- 49,

50.

51.

52.

(1) space waves

Phase velocity

UHF range signals are propagated using

(3) sky waves 4) surl‘a.cc waves

Slope overload distortion occurs in

(1) pulse code modulation (2)«delta modulation

(3) frequency modulation (4) adaptive delta modulation
- Error correcting code which can detect 2 errors or correct a single error 1s
(1) huffman code (2) hamming code

(3) shannon-fano code (4) arithmetic code

The ability of a receiver to distinguish between two adjacent carrier frequencies is referred to as

(1) selectivity (2) sensitivity
(3) linearity (4) fidelity &
The number of symbols in Quadrature phase shift keying is =

(1) four (2) eight

(3) two ' . __ (4) sixteen
The basic data rate of bearer channel is ISDN is

(1) 8 Kbps (2) 64 Kbps_:

(3) 382 Kbps

(1)455 KHz

(3) 1450 KHz

Dominant mode in a rectangular wave : i
(1) TEm o (2) TMOl
(3) TE,, (8) ™™,

‘:‘ﬁ;tramwrsc é!ectrlc mode TE _in a rectangular waveguide is

(D) greater tha »fhe vcgiomty of light in free space

(2) e’qual to Lhe%gi@y of Ilght in free space

(2} helical antenna
(3) turnstile antenna (4) horn antenna y

Antenna used for TV reception is

(1) log periodic antenna (2) helical antenna
(3) turnstile antenna {4} yagi uda antenna
e oG s

Radzanr § :__1
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55.  An X band transponder of a satellite at 35760 Km with an input power of 18 Watts has a
transmit antenna gain of 30dB. The EIRP of the antenna is

(1) 54 kW ' (2) 48 kW
(3) 18 kW (4) 0.5 kW

- 56.  Numerical aperture of a step index fiber w"i_th the core and cladding refractive indices of n, and
n, respectively is

(1) (n, + 1) = @) (1, + 1,)?

(3) J(n? +nd) ' (4) (@} -n3)

57. Device used as fiber optic source in optical communications is

(1) injection Laser diode : (2) PIN diode |
(3) photo diode - (4) schottky barrier diode
58. Microwave device which uses a slow wave structure for its opcration is 8
(1) two cavity Klystron (2) Pi-Mode magnetron - o i
W

(3) travelling wave tube (4) reflex Kiystronm.:ﬁ_
59. Maximum range of radar does not dcpénd on & 3

(1) power gain of the anlenna

(3) radar transmitted power
60. ' The point on the satellite orbit which is closestto 1 54

(1) apogee

(4) perl gee

Hn

(3) descending node
61. Aspliceis

(1) an optical detector (2) a permanent fused fiber to fiber joint

3)a demountablc fiber 0]3’[1@&01‘11780101’ (4) a step index single mode fiber

62. Anantenna c&uphnﬂ dcx» ice whlch isolates the sensitive receiver from the high transmitter powers
but direets b@ﬁkm Laéled

e\w'

(1 )_:_r;g:)éz__ter *f» (2) isolator

(4) gateway

(2) modulo N counter

.-s@.-&(\I) rlpple counter

o

(3) twisted ring counter (4) decade counter
Gray code 1001 is equal to in decimal

(1312 _ (2) 13

(3) 14 (4) 15

Radiant's =
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65. The decimal number-34 is expressed in the 2's compliment form-as

(1)01011110 : g (2) 10100010
(3) 11011110 (4) 01011101
66. The logic gate is used to compare two bits for equahty 18
(1)AND : (2) OR
(3) EX-OR (4) EX-NOR :
67. The minimum number of two input NOR gates required to realize two input EX-NOR gate 18
(1) 4 _ (2)5
3)6 4)7
68. To check for or to generate the proper parity in a given code is by using gates
(1) AND ~ (2)OR
(3) EX-OR ' 4 IEX-NOR

69. If an Octal-to-binary priority encoder haa its 0, 2, 5 and 6 inputs at active Ie\;cl
binary output 1s :

(1) 110 (2) 010
(3) 101 (4) 000

70. The minimum interval required for the logic levels t
edge of clock in a clocked flip flop is

(1) set up time &

(4) pi"bpfi'.gation delay time

(3) raisc time
Suceh that each*have a propagation delay of 12 nsec.
it takes a total time of

(1) 12 nsec (2) 24 nsec
(3) 48 nsec_ '“‘” " (4) 36 nsec
72. Witha 100 ;KH% ¢l ogk trequency 8 b1t§ can be serially entered into shift register in

71.

(1980 pisee s (2) 8 u sec
&éi‘g)&%g@) 213 msc&, 4 (4) 10 u sec
i, m&m "*f_lash memory is
?Zgggé wm&l)‘voiame (2) non-volatile
) (3) SRAM (4) DRAM
- 74. Conversion time of an 8§ bit successive approximation type ADC if the clock frequency is
10 MHz is
(1) 0.1 u sec (2) A24T5 1 S8

(3) 0.8 p sec {4) 8 u sec
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75.  The correct sequence of steps to perform "fetch” operétion N MIiCroprocessor
1) places the address of first byte of instruction on the address bus
2) gets opcode on the databus
3) opcode is decoded

(1)1,2, 8. ; (2;2,1,3
(3)3, 152 : (4)3,2,1
76. Find the memory requlrement of the 8085 for the following program
LXI _ B,2475H
LXI . D,3794H
LDAX B ;
(1) 3 bytes (2) 7 bytes
(3) 5 bytes (4) 8 bytes
77. HOLD-HLDA pair prowdeb the handshaking required for operation
(1) UART ' (2) interrupt controller
(3) keyboard-display control (4) DMA
78. "Cycle steal" operation is with :
(1) DMA controller (2) mterruput contzﬁ]ﬁel : -
(3) keyboard-display controller 4) mici'ecorltr@ﬁaer RM&, g
79.  Bit set/reset mode is in . o fE 7
(1) 8251
(3) 8257

The resolution of 5 bit DAC is

(4) 31

(2) code segment

ﬁgg cxtfé ségment
gAR CALL or FAR JUMP is to branch if program area is outside segment in 8086
(1) 4K byte (2) 16K byte

(4) stack segment

(3) 32K byte (4) 64 Kby:e
83. Direction flag (DF) in 8086 is a
(1) status flag y (2) control flag

(3) interrupt flag (4) mode flag
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" 84. 8086 looks up for interrupt vector table in its memory space in address

(1) 00000-000FFH (2) 00000-001FFH
(3) 00000-002FFH (4) 00000-003FFH
85. The operation of a thermocouple is based on '
(1) seeback effect | (2) peltier effect
(3) thomson effect (4) faraday's laws
86. The gauge factor of a resistance wire strain gauge is.a measure of
(1) sensitivity of the gauge (2) dynamic range of d1spiacement measure
(3) resolution’ (4) resistivity

87. According to CCIR-B standards in the interlaced scanning pattern, number of lines scanned in
one field are

(1) 625 (2) 525
(3) 52512 (4) 625/2 i
88. One of the following camera tubes is based on photo emissive principle
(1) videocon (2) saticon
(3) image orthicon (4) new vicon %
89. The difference between picture and sound carrier frequencies in at&gﬁard LV br@adcast channels
is e
(1) 0.25 MHz
(3) 4.5 MHz
90. Screen aspect ratio in HDTV 18 s, _ s,
(1) 43 (i;:.zo"g"' |
(3)25:9 : o 169 -
91. - The number of lines scanned p‘év ﬂ', ; Iﬁjlizewrabter on the TV picture tube screen is
(1) 525 o (2) 262
(3) 20 P, j (4) 10
92.  One half the spﬁ:ﬁ& betwcen the start positions for scanning even and odd fields in a TV is
&) Bfankm% pum& > (2) exact interleaving

(4) fish tailing

% %ﬁﬁ) caihodc (2) grid

(3) accelerating anode '  (4) X-Y plates

Which of the following voltmeters would you use for measuring voltage across 20kC) resistance
(1) voltmeter having a resistance of 5kQ (2) voltmeter having a sensitivity of 1 kW/V

(3) voltmeter having sensitivity of 10 kW/V  (4) voltmeter having a sensivity of 0.5 kW/V

S e S

s Radiant's
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95.  An LVDT is used to measure diplacement. The LVDT feeds a voltmeter of 0.5 V range thrdugh
a 250 gain amplificr. For a displacement 0.5 mm the output of LVDT is 2mV. The sensitivity of .
instrument is _ :

(1) 0.1V/mm (2) 0.5V/mm
(3) 1V/mm R (4) 5V/mm

96. A digital voltmeter has a read out range from 0 to 999 counts. If the full scale reading is 9.999V,

the resolution is

(1y 1v : (2)0.01V
(3) ImV : _ (4) 1uV
97. In schering bridge, the potential of detector above earth potential is abf;ut
(1) a few volts (2) 10 kV
(3) 1000V (4) 100kV 2
98. In the wheatstone bridge in figure, each resistance is increased By 0.05%. The valyc';; v
be Ly

(1) 50mV (2) Sm\’
(3) 0.1mV a5 : (4) OmV
99. When measuring phase dngigibfeﬁiween two waves using a CRO, the time base generator is
connected to O
(1) X piate«w l ‘ " f”? (2) Y plate
(3, b&tif X aﬂ?a:;gf’p . (4) neither X nor Y plates

100 \thh o‘f (ht-: ?@liﬁwmg is not correct
ol '*I) vei’m;lgtﬁ' should have a very high resistance

“‘Wé?& &mm\
: ’%2“(2} aﬂ ammelel should have a very low resistance

Wi,
SRl e

i _@ewa@wz MIJ) a shunt should have a very low resistance

P (4) an electronic voltmeter draws appreciable current from source
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N3 | p1| N3] 44| 51| G2 | 714 Sy 2 | 10

11 [12)2 | 13)3 | 143 | 15) 2 16) 1 17) 4 |18y2." 19y 4 | 20) 2

)1 |2y2 | 233|244 |22 261 | 27)2 |28)2 | 29) 4 | 30) 3

3y 1 |32)3 | 333 | 3412 354 | 393 |30 4 |3 39 1 | 40) 2

41)3 | 42) 2 | 43) 4

51)3 [52)1 | 53) 2

4

612 | 62) 3 | 63)

733 | 721 | 73) 2

81) 1.4| 82) 4 | 83) 2

91y 1 | 92) 2 | 93) 4
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